NAME
CHEMISTRY
PH and pCH

pH + pOH = 14
-log[H') = pH
107 = 11"
[H'|[OH] = 1.0B-14

What is the range of pH. D 14
Is it possible to have apH greater or smaller then 14 and 0 respectively? #3102
Which pH is b 56 and which is acidje?
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In the followmg questions, calculate the pH from the concentrations of [H;0 1. Indicate acidic or basu:

[ T -

ES___j wato... pH
4. [1.0E-15M] 55 G X o part Ci
5. [25E-4M] el N
6. [L1E-2M] SR L PR Y%
7. [.00IM] 3

In the following calculate the concentration of H;0" from the pH.

pH ...to...
8. 7
9. 2
10. 3.5
11. 14
12,157

Calculate the pOH from the following pH.

pH .to... pOLi
3. 12 B
14,1 L
15. 9 _ 5 &
16. 2.5 g Ik
Calculate the pH for the following pOH.

pOH .o to... pH )
17. 12 R
18. 2.4 e &
19. 9.8 o4
200 2.5 “h:—;

Calculate the pOH from the followmg concentrations of H; 0O

H3 RN 1 S OH _

Y IL. 05 E-16 M] [EPR Pi—i_ B clees AR
22, [2.5E—-6 Mj AL g, 4 #
23. [1.5E-12 M] 151 2 0% &
24. [.0001M] 5 1w A

Calculate the pH from the following concentrations of OH

[OH] et A0 _
29. [299E-6M] _ ‘f;‘"“"" o
30. 1.23 E-8M] o - ‘5;; N
3L[999E 1IM] o
32. [.001M] BRI R




NAME
CHEMISTRY
PH and pOH 11

pH+pOH = 14
-log[H"] = pH
107 =[]
[H'JOH] = 1.0E-14

In the following calcuiate the pH from the concentrations of [H;0".

[H;07] ...to... pH
1. [1.0B-10 M] W
2. [15E-4M] 24
3. [89E-2M] Lo
4. [1.0M] 5 A

In the following calculate the concentration of ;0" from the pH.
pH ...to...
5 S, iEsy
2.5 %,
54
11

© 149

(0100~ n
W5owg w4y §

Calculate the pOH from the following pH.
pH ...to...

10. 12.8

11. 10

12, 8.3

13. 5.2

Calculate the pH for the following pO¥.

pOH .oto... pH
14, 12.7 j,;
15. 74
16, 13.8
1711555

Calculate the pOH from the following concentrations of H;0",
18. [8.4 E-12 M] T
18. [3.5E-4 M]

200 [S5E-11 M] e ,
21, [[1M] S

Calculate the pH from the following concentrations of OH-

O B T pH
29. [1.28 E-6] %
30. {1.2 E-8]}
31 119 E-11] 2
32, [.0000017 A




